
Munitions India Limited
A Government Of India Enterprise

Ministry Of Defence
Pune, Maharashtra

CENTRALISED VENDOR REGISTRATION CERTIFICATE

This is to certify that M/s Traub Precision Tools, 151chandrabani khalsa Indl. Area Mohabewala Dehradun Uttarakhand is
registered at Munitions India Limited for following Items.

 

Sl.
No.

Factory / Unit Item Nomenclature Initial Date of
Registration

1 Ordnance Factory Dehradun BLOCK AS PER DRG. NO. MCT-3283 FOR

COLLIMETER INFINITY 102A.[As per required

Specification]

06-08-2016

2 CELL OPTICAL ELEMENT DRG.NO. MCT-2943/1

FOR HR BINO.[As per required Specification]

06-08-2016

3 SCREW GRUB SLOTTED HEAD LONG STEEL

WITH PHOSPHATE PLATING AS PER IS 2388

CONICAL END [74]

20-08-2019

4 LAMP SOCKET ASSEMBLY 2.5V 0.3 AMP

MCT-306/1 COMPRISING OF MCT- 306/1, 307, &

308 (3 SHTS)[As per required Specification]

06-08-2016

5 LAMP WANDERING 1A AS PER DRG.

NO.MCT-3212. [As per required Specification]

06-08-2016

6 LEVEL FIRE CONTROL INSTT. AS PER DRG.

NO.MCT-2906 & MCT-2905 COMPRISING OF

Ã¢â‚¬â€œ 1.CAP MCT-1184/1, 2.PLATE

MCT-1185/1, 3.LEVEL MCT-757/1, 4.TRIBRACH

MCT-758/1, 5.SCREW MCT-1186/1, 6.ADAPTER

MCT-1165/1, 7.NUT MCT-1187/1, 8.SCREW

SHOULDER MCT-900/1.[As per required

Specification]

06-08-2016

7 MACHINING OF BOX AS PER DRG. NO.

MCT-2469/2 CASTING WILL BE SUPPLIED BY

OFD.[As per required Specification]

06-08-2016

8 LAMP GUN MOUNTED 4A MCT-3210[74] 20-08-2019

Page 1/13



9 RAIL ASSY CONSISTS OF REAR AND FRONT

BRACKET TO DRG NO MCT 2313 2314 AND

2315[74]

20-08-2019

10 ADAPTER TO DRG NO MCT 2875[74] 20-08-2019

11 120 DEGREE CSK HEAD ALLUMINUM RIVET I S

9089[17]

20-08-2019

12 BASE TO DRG NO MCT 2877 1 FOR MT

TELESCOPE 102A[74]

20-08-2019

13 BEARING AS PER DRG NO MCT 3281 FOR

COLLIMETER INFINITY 102 A[74]

20-08-2019

14 BEARING SLEEVE DRG NO IRDE 1175 108[74] 20-08-2019

15 BEARING TO DRG MCT 1123 1 FOR SIGHT UNIT

CASED 102B[74]

20-08-2019

16 BLOCK DRG NO MCT 2485[74] 20-08-2019

17 BODY TO DRG NO MCT 3085[00] 20-08-2019

18 BOLT MILD STEEL HEXAGONAL HEAD FULL

THREADED SIZE M5 25 LONG TO IS 1363[17]

20-08-2019

19 BRACKET AS PER DRG NO MCT 3282[74] 20-08-2019

20 BRACKET DRG NO CQA I 796 1[74] 20-08-2019

21 BRACKET DRG NO IRDE 2048 1 MCT 3150[74] 20-08-2019

22 BRASS WOOD SCREW SLOTTED CSK HEAD SIZE

NO 2 X 10 MM LONG TO IS 6760[17]

20-08-2019

23 BUSH AS PER DRG NO CWC 229 77 1[74] 20-08-2019

24 BUSH TO DRG OS 13616 MCT 2834[74] 20-08-2019

25 BUTT HINGES MILD STEEL FLAP IS1341[19] 20-08-2019

26 C SK HD SCREW M2X3 BRASS IS1365 FOR SU

102B[17]

20-08-2019

27 CAP BEARING HALF TO DRG NO IRDE 421 14

MCT 2903 FOR MT TELESCOPE 102A[74]

20-08-2019

28 CAP PROTECTIVE DUST AND MOISTURE SEAL

AS PER DRG NO IRDE 1035 59[74]

20-08-2019

29 CAP BODY UPPER TO DRG NO IRDE 2048 173[74] 20-08-2019

30 CAP LID TO DRG NO MCT 3251 FOR

CLINOMETER 2A 46[00]

20-08-2019

Page 2/13



31 CAP OG TO DRG NO MCT 1901 1[00] 20-08-2019

32 CAP TO DRG MCT 433[00] 20-08-2019

33 CAP TO DRG NO MCT 1418[74] 20-08-2019

34 CARBON STEEL FLAT HEAD RIVET 2MM X 7MM

LONG IS 2155 FOR SUC 102B[17]

20-08-2019

35 CASE DRG NO OS 34611[74] 20-08-2019

36 CASE TO DRG NO MCT 2483 3[74] 20-08-2019

37 CASE TO DRG NO MCT 2427[74] 20-08-2019

38 CASE VIAL LEVEL AS PER DRG NO MCT 3284[74] 20-08-2019

39 CELL OG FOR TELESCOPE SIGHTING[74] 20-08-2019

40 CELL AS PER DRG NO MCT 3279[74] 20-08-2019

41 CELL DRG NO MCT 1161 3 FOR SIGHT UNIT

CASED 102 B[74]

20-08-2019

42 CELL ERECTOR TO DRG NO MCT 2918 1[74] 20-08-2019

43 CELL FILTER DRG NO MCT 1727 1[74] 20-08-2019

44 CELL GRATICULE TO DRG MCT 1143 1 FOR

SIGHT UNIT CASED 102B[74]

20-08-2019

45 CELL OBJECTIVE TO DRG MCT 3233 FOR SIGHT

UNIT CASED 102B[74]

20-08-2019

46 CELL OPTICAL ELEMENT DRG NO MCT 2943 2

FOR HR BINO[74]

20-08-2019

47 CELL OPTICAL ELEMENT AS PER DRG NO MCT

2942 2 FOR BINOCULAR 8X30 R[74]

20-08-2019

48 CELL OPTICAL ELEMENT TO DRG NO MCT 2941 2

FOR HR BINO 8X30[74]

20-08-2019

49 CELL OPTICAL INSTRUMENTS ERECTOR AS PER

DRG NO IRDE 2605 9[74]

20-08-2019

50 CELL OUTER DRG NO IRDE 2048 129[74] 20-08-2019

51 CELL RETICLE DRG NO IRDE 2605 16[74] 20-08-2019

52 CLAMP FINISH TO DRG NO MCT 2103[74] 20-08-2019

53 CLINOMETER 2A 46 BODY AS PER DRG NO MCT

3146 1[00]

20-08-2019

54 COLLER TO DRG OS 12327[74] 20-08-2019

Page 3/13



55 CONNECTOR ROD END TO DRG MCT 3098 FOR

MT TELESCOPE 102A[74]

20-08-2019

56 CORNER CASE LOWER MCT 3261[74] 20-08-2019

57 CORNER PIECE FOR BASE PLATE TO DRG NO

MCT 874 1[00]

20-08-2019

58 COVER BODY FOR DIRECTOR FIRE CONTROL

NO7 DRG NO MCT 2460[74]

20-08-2019

59 COVER OF LEVEL TO DRG NO MCT 3252 FOR

CLINOMETER 2A 46[74]

20-08-2019

60 DIAL SCALE TELESCOPE 102A[74] 20-08-2019

61 DIAL SCALE 1 TO DRG NO MCT 3093 FOR MT

TELESCOPE 102A[74]

20-08-2019

62 DOVETAIL COMPLETE TO DRG NO MCT 2230 3

FOR DAY SIGHT RIFLE[74]

20-08-2019

63 ELEVATION CURVE 557 TO DRG NO CQA I 792

7[74]

20-08-2019

64 ERECTING SYSTEM CONSIST OF 3

COMPONENTS[74]

20-08-2019

65 EYE GUARD DRG NO MCT 1398[74] 20-08-2019

66 EYE HOOK TO DRG NO OS 10608 MCT 2660[74] 20-08-2019

67 FASTENER SET TURN LOCK DRG NO MCT 1189

1[00]

20-08-2019

68 FORE SIGHT TO DRG NO MCT 3106 FOR MT

TELESCOPE 102A[74]

20-08-2019

69 FRAME TO DRG NO MCT 1465 3[74] 20-08-2019

70 FRONT COVER DRG NO MCT 1301 1[00] 20-08-2019

71 HOLDER DRG IRDE 1175 45 SHT 2 FOR SIGHT

DIAL 104A[74]

20-08-2019

72 HOOK SAFETY NO 3 TO DRG NO MCT 695 1 7

SHEETS[17]

20-08-2019

73 HOUSING ASSLY MCT2288 COMPRISING OF

MCT2397 1 MCT 2396 MCT 2290[74]

20-08-2019

74 HOUSING BEARING UNIT IRDE 68 3[74] 20-08-2019

75 HOUSING ELECTRICAL DRG NO IRDE 2048

120[74]

20-08-2019

Page 4/13



76 HOUSING EP COMPRISING OF FOLLOWINGS

HOUSING EP IRDE 1274 8 AND KNOB IRDE 1274

9[74]

20-08-2019

77 HOUSING EP FINISHED TO DRG NO MCT 1515

1[74]

20-08-2019

78 HOUSING FIRE CONTROL INSTRUMENT AS PER

DRG NO IRDE 1809 3 FOR DRIVER DAY

PERISCOPE SIDE[74]

20-08-2019

79 HOUSING FOR POINTER DIAL CONTROL MCT

3132 FOR SIGHT DIAL 104A[74]

20-08-2019

80 HOUSING GEAR RIGHT DRG NO IRDE 2048 53

MCT 2106 1[74]

20-08-2019

81 HOUSING MECHANICAL DRIVE INVESTMENT

CASTING DRG NO ODD C 732 1[00]

20-08-2019

82 INSULATING BUSH MCT 3190[74] 20-08-2019

83 INSULATOR II DRG NO MCT 1305 2[00] 20-08-2019

84 KNOB ASSY[74] 20-08-2019

85 KNOB ASSY TO MCT 2317 1[74] 20-08-2019

86 KNOB TO DRG NO MCT 3096 FOR MT TLESCOPE

102A[74]

20-08-2019

87 KNOB TO DRG NO MCT 2710 FOR INDICATOR

FUZE 105 37[74]

20-08-2019

88 KNOB TO DRG NO MCT 3245 FOR SIGHT DIAL

104A[74]

20-08-2019

89 LEVER CONTROL HAND TO DRG NO MCT 3244

FOR SIGHT DIAL104A[74]

20-08-2019

90 LEVER DRG NO IRDE 2048 139[74] 20-08-2019

91 LEVER TO DRG NO OS 10643 MCT 2482 1[74] 20-08-2019

92 MACH OF BODY TO DRG MCT 2470 1[00] 20-08-2019

93 MACHINING OF BASE AS PER DRG NO MCT 3471

FOR MOUNT TELE 102A[74]

20-08-2019

94 MACHINING OF BEARING MOUNTED MCT 2465 1

CASTING[74]

20-08-2019

95 MACHINING OF BRACKET AS PER DRG NO MCT

3470 FOR MOUNT TELESCOPE 102A[74]

20-08-2019

Page 5/13



96 MACHINING OF FRAME BODY AS PER DRG MCT

2287 2 OF QUADRANT FIRE CONTROL[74]

20-08-2019

97 MACHINING OF HOUSING WINDOW GLASS[74] 20-08-2019

98 MACHINING OF LEVER TO DRG NO MCT 2462

CASTING[74]

20-08-2019

99 MACHINING OF LEVER TO DRG NO MCT 2463[74] 20-08-2019

100 MACHINING OF SLIDE TO DRG NO OS 24466 MCT

2448 CASTING[74]

20-08-2019

101 MEDIUM WEIGHT STEEL BUTT HINGE

UNCRANCKED 40 MM LONG WITHOUT HOLE IS

1341[17]

20-08-2019

102 MILD STEEL HINGE 2[17] 20-08-2019

103 MOUNTING BOLT DRG NO CQA I 792 35 FOR

TELESCOPIC SIGHT MK III[74]

20-08-2019

104 MOUNTING PLATE ASSY DRG NO MCT 2289

COMPRISING OF MCT 2393 1 MCT 2394 MCT 2395

1 AND MCT 2392 2[74]

20-08-2019

105 NUT CLAMPING AS PER DRG NO MCT 3163[74] 20-08-2019

106 NUT LOCKING SPECIAL DRG NO MCT 3112 FOR

SIGHT DIAL 104A[74]

20-08-2019

107 NUT PLAIN ROUND AS PER DRG NO MCT

3012[74]

20-08-2019

108 NUT TO DRG NO MCT 2487[74] 20-08-2019

109 OPPOSED BEARING TO DRG NO CQA I 793 32

FOR TELE SIGHT MK III[74]

20-08-2019

110 PIN FOR S DIAL M S[00] 20-08-2019

111 PIN STEEL FOR S U CASE 102B[00] 20-08-2019

112 PIN COTTER SPLIT FOR SIGHT DIAL STEEL[17] 20-08-2019

113 PIN CYLINDRICAL STEEL 2 H 8X6MM LONG FOR

S DIAL 104A[17]

20-08-2019

114 PIN RANGE DRUM FRP 2X18 SMS 1663 MCT

1062[00]

20-08-2019

115 PIN STEEL FOR S U C[00] 20-08-2019

116 PIN TAPER MS FOR SUC IRDE 1132[00] 20-08-2019

117 PIVOT TO DRG NO MCT 1100 2[00] 20-08-2019

Page 6/13



118 PLATE[26] 20-08-2019

119 PLATE 038[26] 20-08-2019

120 PLATE REAR SMALL AS PER DRG NO IRDE 335

22[74]

20-08-2019

121 PLATE BEARING TO DRG NO MCT 1118 2 FOR

SIGHT UNIT CASED 102B[74]

20-08-2019

122 PLATE COVER TO DRG NO MCT 1400[74] 20-08-2019

123 PLATE DRG[26] 20-08-2019

124 PLATE FOR TNPO 168B DRG NO AU8 640 066

UNTOUGHENED GLASS PLATES TO BE ISSUED

BY OFD[26]

20-08-2019

125 PLATE INDEXING FIXTURE TO DRG NO MCT

2477[74]

20-08-2019

126 PLATE RETAINING BEARING[00] 20-08-2019

127 PLUNGER DRG OS 13570 MCT 2832[74] 20-08-2019

128 PT SCREW 1412 FOR HR BINO[17] 20-08-2019

129 PT SCREW 1452 FOR H R BINO[17] 20-08-2019

130 RING EXTERNALLY THREADED AS PER DRG NO

IRDE 2605 28[74]

20-08-2019

131 RING EYE PIECE IRDE 1274 10 DRG NO MCT 1297

1[00]

20-08-2019

132 RING FOR DIRECTOR FIRE CONTROL NO 7 DRG

NO OS 13622 MCT 2440[74]

20-08-2019

133 RING RETAINING DRG NO MCT 2959 1[74] 20-08-2019

134 RING RETAINING OPTICAL ELEMENT TO DRG NO

IRDE 2605 43[74]

20-08-2019

135 RING RETAINING OPTICAL ELEMENT TO DRG NO

IRDE 2603 17[74]

20-08-2019

136 RING RETAINING OPTICAL ELEMENT TO DRG NO

IRDE 2603 32[74]

20-08-2019

137 RING RETAINING OPTICAL ELEMENT TO DRG NO

IRDE 2603 14[74]

20-08-2019

138 RING RETAINING TO DRG NO MCT 2946 2 FOR

HR BINO 8X30 R[74]

20-08-2019

Page 7/13



139 RING RETAINING TO DRG NO MCT 3238 1 FOR

SIGHT DIAL 104A[74]

20-08-2019

140 RING RETAINING TO DRG NO ODD M 2742 FOR D

7[74]

20-08-2019

141 RING RETAINING TO DRG. NO. MCT-2939/2 FOR

HR BINO 8X30R[74]

20-08-2019

142 RING RETAINING TO FOR HR BINO 8 30 R[74] 20-08-2019

143 RING RETANING AS PER DRG NO MCT 2960 1

FOR HR BINO 8X30R[74]

20-08-2019

144 RING RETTIANING OPTICAL ELEMENT TO DRG

IRDE 2001 7 MCT 1474 FOR BNVP 101A[74]

20-08-2019

145 RING SEPARATING TO DRG TDE I 161 9 MCT

1139[74]

20-08-2019

146 RING SPECIAL AS PER DRG NO IRDE 2605 13[74] 20-08-2019

147 RING TO DRG NO MCT 1992 FOR GNVP[74] 20-08-2019

148 RING WITH DIVISIONS AS PER DRG NO MCT

3268A FOR CLINOMETER 2A 46[74]

20-08-2019

149 RING WITHOUT ENGRAVING AS PER DRG NO

MCT 3268[74]

20-08-2019

150 RIVET COPPER CSK HD 2MM X 6MM FOR SIGHT

DIAL 104A[17]

20-08-2019

151 RIVET COPPER CSK HD LONG FOR PLOTTER

81MM MORTAR CASED 101A[17]

20-08-2019

152 RIVET COPPER CSK HD LONG FOR S DIAL

104A[17]

20-08-2019

153 RIVET COPPER FLAT HEAD DIA 5MM LONG PT

NO 1290 00023[17]

20-08-2019

154 RIVET FLAT HD STEEL 3X7MM IS 2155[17] 20-08-2019

155 RIVET SNAP HD IS 2155 STEEL[17] 20-08-2019

156 RIVET SOLID SNAP HD 2X7MM BRASS IS 2907[17] 20-08-2019

157 RIVETS BRASS FT HD 2X5MM LONG[17] 20-08-2019

158 ROUND HEAD WOOD SCREW NO 4X12 STEEL

PHOSPHATE IS 6739[17]

20-08-2019

159 SCALE FIXED WITHOUT ENGRAVING AS PER

DRG NO MCT 3266 1 FOR SIGHT UNIT CASED

102B[74]

20-08-2019

Page 8/13



160 SCREW DRIVER 150MM LONG INCLUDING

HANDLE CONFORMING TO IS 844 1991[40]

20-08-2019

161 SCREW GRUB C M BRASS IS 2388[17] 20-08-2019

162 SCREW GRUB BRASS BA FLAT END FOR

SUC102B FINISH CAD PLATING[17]

20-08-2019

163 SCREW GRUB BRASS CONICAL END FOR SUC

102B FINISH BLACK BRONZING[17]

20-08-2019

164 SCREW GRUB C BRASS CONICAL WITH BLACK

BRONZING PLATING AS PER IS 2388[17]

20-08-2019

165 SCREW GRUB C BRASS M2X3 LG IS 2388 FOR

BINO 20X70[17]

20-08-2019

166 SCREW GRUB C LONG BRASS IS 2388[17] 20-08-2019

167 SCREW GRUB CONICAL END SIZE M2X2 STEEL

CONFORMING TO IS 2388[17]

20-08-2019

168 SCREW GRUB CONICAL END SIZE M4X6 STEEL

CONFORMING TO IS 2388[17]

20-08-2019

169 SCREW GRUB CONICAL END STEEL AS PER IS

2388 1971[17]

20-08-2019

170 SCREW GRUB SLOTTED CONICAL END STEEL

SIZE M3X3 MM LONG AS PER IS 2388 1971[17]

20-08-2019

171 SCREW GRUB SLOTTED CONICAL END STEEL

WITH CADMIUM PLATING IS 2388 MAKE LPS[17]

20-08-2019

172 SCREW GRUB SLOTTED CONICAL END STEEL

WITH CADMIUM PLATING SIZE M2X2 DIN 553 AS

PER IS 2388[17]

20-08-2019

173 SCREW GRUB SLOTTED CONICAL POINT[74] 20-08-2019

174 SCREW GRUB SLOTTED CONICAL POINT STEEL

FOR AZIMOTH ELEVATION ASSY[17]

20-08-2019

175 SCREW GRUB SLOTTED CONICAL SIZE M2X2

BRASS CONFIRMING TO IS 2388 MAKE TVS

UNBRAKO LPS[17]

20-08-2019

176 SCREW GRUB SLOTTED CONICAL SIZE M2X4 MM

LONG BRASS WITH BLACK BRONZING COATING

AS PER IS 2388[17]

20-08-2019

177 SCREW GRUB SLOTTED END M2X2 LONG BRASS

GRUB C I S 2388[17]

20-08-2019

Page 9/13



178 SCREW GRUB SLOTTED HEAD CONICAL HEAD

WITH CADMIUM PLATING STEEL AS PER IS 2388

MAKELPS[17]

20-08-2019

179 SCREW GRUB SLOTTED M2X3MM LONG BRASS

WITH BLACK BRONZING PLATED IS 2388

CONICAL END[17]

20-08-2019

180 SCREW HEX SOCKET HEAD CAP CONFORMING

TO IS 2269 MAKE UNBRAKO TVS LPS[17]

20-08-2019

181 SCREW HEXAGONAL HEAD SIZE M6X15 LONG

STEEL IS 1364[17]

20-08-2019

182 SCREW LONG HOUSING AS PER DRG NO CQA I

792 31 FOR TELE SIGHT MK III[74]

20-08-2019

183 SCREW LONG HOUSING GF125181 FOR

BRACKET FOR TELESCOPE 84MM RCL GUN DRG

NO CQA I 792 31[17]

20-08-2019

184 SCREW M C SL CSK HD M3X6 A BRASS LONG IS

5308[17]

20-08-2019

185 SCREW M C SLOTTED CSK HD STEEL IS 1365

M3X20MM LONG FOR INDICATOR FUSE 105 37

FINISH PHOSPHATING[17]

20-08-2019

186 SCREW M2X4 SLOTTED HEAD CONICAL END

GRUB SCREW STEEL AS PER IS 2388 WITH

CADMIUM PLATING[17]

20-08-2019

187 SCREW MACH CH HD M3X6MM LONG IRDE 68 MA

FOR SIGHT UNIT CASED[17]

20-08-2019

188 SCREW MACHINE CHEES HEAD SIZE M6X12

STEEL TO IS 1366[17]

20-08-2019

189 SCREW MACHINE CSK HEAD SIZE M4X6 LONG

BRASS CONFIRMING TO IS 1365[17]

20-08-2019

190 SCREW MACHINE CSK HEAD SIZE M4X18 LONG

BRASS CONFIMING TO IS 1365[17]

20-08-2019

191 SCREW MACHINE CSK HEAD SIZE M4X5 LONG

BRASS CONFIRMING TO IS 1365[17]

20-08-2019

192 SCREW MACHINE CSK HEAD SIZE M6 X 15 LONG

STEEL 5S IS 1365[17]

20-08-2019

193 SCREW MACHINE CSK HEAD SIZE M6X9 LONG

STEEL CONFIRMING TO IS 1365[17]

20-08-2019

194 SCREW MET SLOTT CSK HD COARSE PITCH

PRECISION STEEL IS 1365[17]

20-08-2019

Page 10/13



195 SCREW METRIC HEX HD STEEL M6 30 HALF

THREAD LENGTH[17]

20-08-2019

196 SCREW METRIC CH HEAD STEEL M3X20MM

LONG IS 1366[17]

20-08-2019

197 SCREW METRIC SLOTTED C S K HEAD COARSE

PITCH M 2X6 LONG BRASS CONFORMING TO IS

1365[17]

20-08-2019

198 SCREW METRIC SLOTTED CH HD M6X19 LONG

STEEL IS 1366[17]

20-08-2019

199 SCREW METRIC SLOTTED CH HD WITH BLACK

BRONZING IS 1366 BRASS[17]

20-08-2019

200 SCREW METRIC SLOTTED CH HEAD M2X6

BRASS IS 1366[17]

20-08-2019

201 SCREW METRIC SLOTTED CSK COARSE PITCH

PRECISION IS1365 STEEL FOR SIGHT DIAL 104A

GOGGLES PASSIVE NIGHT VISION[17]

20-08-2019

202 SCREW METRIC SLOTTED CSK HD IS 1365

BRASS[17]

20-08-2019

203 SCREW METRIC SLOTTED CSK HD COARSE

PITCH PRECISION IS 1365 BRASS FOR PASSIVE

NIGHT VISION GOGGLES[17]

20-08-2019

204 SCREW METRIC SLOTTED CSK HD COARSE

PITCH PRECISION M2X3 STEEL IS 1365 1968

MAKE TVS UNBRAKO LPS[17]

20-08-2019

205 SCREW METRIC STOLLED CH HD COARSE PITCH

PRECISION M2X5 IS 1366 BRASS[17]

20-08-2019

206 SCREW MOUNTING BOLT AS PER DRG NO MCT

1059 FOR TELE SIGHT MK III[74]

20-08-2019

207 SCREW SHORT HOUSING AS PER DRG NO CQA I

792 37 FOR TELE SIGHT MK III[74]

20-08-2019

208 SCREW SLIDE AS PER DRG NO CQA I 792 27 FOR

TELE SIGHT MK III[74]

20-08-2019

209 SCREW SLOTTED CH HD M4X13MM LONG STEEL

IS1366 WITH PHOSPHATE PLATING[17]

20-08-2019

210 SCREW SLOTTED CH HD STEEL[17] 20-08-2019

211 SCREW SLOTTED CSK HD PRECISION M2X5MM

LONG BRASS WITH DULL BRASS BRONZING

PLATING AS PER IS 1365[17]

20-08-2019

Page 11/13



212 SCREW SLOTTED CSK HEAD BRASS WITH DULL

BRASS BRONZING PLATING AS PER IS 1365[17]

20-08-2019

213 SCREW SLOTTED CSK HEAD M2X8 MM LONG

COARSE PRECISION STEEL WITH PHOSPHATING

PLATING AS PER IS 1365[17]

20-08-2019

214 SCREW SLOTTEDMETRIC CSK HD M2X7 LONG

BRASS IS 1365 2005[17]

20-08-2019

215 SCREW SOCKET CAP HEXAGONAL HEAD STEEL

M4X12 LONG CONFORMING TO IS 2269 MAKE

UNBRAKO LPS TVS[17]

20-08-2019

216 SCREW SOCKET CAP HEXAGONAL HEAD SIZE

M4 X 16MM LONG STEEL IS 2269[17]

20-08-2019

217 SCREW SOCKET CAP HEXAGONAL HEAD SIZE

M4X18 LONG STEEL CONFIRMING TO IS 2269[17]

20-08-2019

218 SCREW SPECIAL ADJUSTING WITH BUSH TO

DRG NO MCT 2871 1[74]

20-08-2019

219 SCREW SPECIAL DRG NO 2880[00] 20-08-2019

220 SCREW SPECIAL DRG NO MCT 1137 1[74] 20-08-2019

221 SCREW TAPPING THREAD FORMING MCT 1130 2

FOR SIGHT UNIT CASED 102B[74]

20-08-2019

222 SCREW TO DRG NO MCT 3127 1 FOR TNP 165A T

72[74]

20-08-2019

223 SEAL GASKET TO DRG NO MCT 1417[74] 20-08-2019

224 SET OF DIAL SCALE CONSIST OF 2 COMPONENT

1 DIAL SCALE VERTICAL MCT2514 1 2DIAL SCALE

LATERAL MCT 2515 1[74]

20-08-2019

225 SET SCREW DIN 551 FOR H R BINO[17] 20-08-2019

226 SHADE OPT INST DRG NO 1035 61[74] 20-08-2019

227 SHADE OPTICAL INSTRUMENT[74] 20-08-2019

228 BODY ASSY DRG NO BSH6 110 050 SB[74] 19-10-2020

229 BODY AS PER DRG NO MCT 3146 1[74] 28-01-2021

230 SCREW DRIVER NO 7 TO DRG NO MCT 796 2[00] 28-01-2021

231 Housing Mechanical Drive as per Drg No MCT

3511[74]

28-01-2021

232 HOLDER LIGHT DIFFUSER CII 423[74] 28-01-2021

Page 12/13



233 LEAD ELECTRICAL OS 1131A[74] 28-01-2021

234 CASE LIGHT SET[74] 28-01-2021

235 BRACKET OS 14630[74] 28-01-2021

236 A SET OF 5 COMPONENTS FOR LRF[74] 08-02-2021

 

Registration No. : AGRPA2546C

Initial Date of Registration : 06-08-2016

Downloaded at : 04/08/2025 02:36 am

 

Conditions of Registration:

1. This Registration has been carried out based on self-declared documents furnished by Vendor.

2. Changes, if any, in Address or constitution of the Firm, major Machinery/Equipment or Technology should be intimated to the

Registration Authority immediately.

3. The Registration Authority reserves the right to cancel this Registration Certificate at any time.

4. Registration will be valid for 05 years with automatic renewal unless cancelled on account of administrative reasons.

 

 This is a system generated certificate. Hence no separate signature is required.

 

NOTE: It is only a registration of vendor. It does not grant any special supply status to the Vendor. It is for the purpose of
participation in Tender process only.

 

 

Powered by TCPDF (www.tcpdf.org)

Page 13/13

http://www.tcpdf.org

